H & Ol &8 AF R S Ml A
202435 =& 2 3 LS s> =Xt
A A =XDt
M =sMEECA =4
=2l BEE 2R &H (CH9: &S1)
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At =Xt 20,603,249 17,886,397 2,716,852
= 2,061,442 2,061,442 0
S 1,400,000 0 1,400,000
AlHI 4,079,749 3,477,527 602,222
iml 1,300,000 550,000 750,000
-4l 11,762,058 11,797,428 A35,370
SMEAC A &4 14,008,559 11,878,559 2,130,000
= 1,000,000 1,000,000 0
£ 1,400,000 0 1,400,000
Al 3,033,000 3,033,000 0
i 1,000,000 250,000 750,000
sl 7,575,559 7,595,559 220,000
WEE A =4 9,785,575 8,235,575 1,550,000
= 1,000,000 1,000,000 0
= 800,000 0 800,000
AltI 3,033,000 3,033,000 0
i 1,000,000 250,000 750,000
sl 3,952,575 3,952,575 0
¥ Y RAX 22|(MSAY) 2,668,575 1,268,575 1,400,000
= 800,000 0 800,000
Al 190,000 190,000 0
w 850,000 250,000 600,000
=t 828,575 828,575 0
401 A& HI L S0HY| 2,140,000 740,000 1,400,000
S 800,000 0 800,000
AlHI 190,000 190,000 0
iml 850,000 250,000 600,000
-4l 300,000 300,000 0
01 AlZ | 2,140,000 740,000 1,400,000
Odttts e &2 Y SESHEA ZEA
S (LEHEALS) 1,400, 000,000 1,400,000 0 1,400,000
= 800,000 0 800,000
iml 600,000 0 600,000
CHHE JISUS SAl= A 2,150,000 2,000,000 150,000
= 1,000,000 1,000,000 0
AltI 500,000 500,000 0
iml 150,000 0 150,000
-4l 500,000 500,000 0
401 AIEHIZL 201 2,150,000 2,000,000 150,000
= 1,000,000 1,000,000 0
AltI 500,000 500,000 0
i 150,000 0 150,000
sl 500,000 500,000 0
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= 1,000,000 1,000,000 0
Al 500,000 500,000 0
iml 150,000 0 150,000
24| 500,000 500,000 0
MEDIL =5} 4,222,984 3,642,984 580,000
= 600,000 0 600,000
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s 600,000 0 600,000
2 1,522,984 1,522,984 0
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= 600,000 0 600,000
24| 734,000 734,000 0
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600,000,000 600,000 0 600,000
= 600,000 0 600,000
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01 Al&HI 0 20,000 A20,000
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) a3 o 0 20,000 £20,000
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= 1,061,442 1,061,442 0
Al 1,046,749 444,527 602,222
im} 300,000 300,000 0
24| 3,883,304 3,877,108 6,1%
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= 970,000 970,000 0
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jm] 300,000 300,000 0
24 2,586,571 2,580,375 6,1%
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AlH] 33,336 31,114 2,222
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SO 23 SF A 600,000 0 600,000
Altl 600,000 0 600,000
401 AlEBIYL S THYI 600,000 0 600,000
Alt] 600,000 0 600,000
01 Al£ZHI 600,000 0 600,000
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600,000,000 600,000 0 600,000
Alt] 600,000 0 600,000
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el 2dd| 229,977 254,829 124,852
101 @12A4H| 229,077 253,329 N24,252
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OAIRHIERIZDIR 2t S (1Y) 15,748 0 15,748
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SA2sg 582,000 582 0 582
03 SRA(RIH )22 U2+ 188,362 228,362 240,000
Oodtd, =X, & 22l 183,346 223,346 240,000
JlE2s 23 118,400,000& 118,400 158,400 240,000
201 el 900 1,500 2600
01 At22t2lt] 900 1,500 2600
Oll= - etd3t - gets S
& 900,000 900 1,500 2600
Hegs(ag=xw) 15,589 12,303 3,286
FSPNES 15,589 12,308 3,286
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802 grat=DIE 15,589 12,308 3,286
02 Al - SHIEXZEHEZ 7,166 3,880 3,286
02023 T Al=3HAL 2,178,000& 2,178 0 2,178
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